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mRIILIKE
BA#E R : 20214088298 A#g 1188 (BHE:106%8 &iE:124)
WAL HRYT ITHEIR : PARX 2
HDCP&IPE: BB 36.0 % 36.0
%’/:736.0?{;’/:736.0 B%L't_(})bTé@ééé@@é IN(T)@@QB(%@@@
BEIRFF : v b TOER PAR54 34435414 PAR4 54434354
B sz i E A ouT IN GROSS HDCP NET 28
2 BSaEA FX 42| 38 80 10.8 69.2| ERIAE
EEHIRE EX 35| 38 73 3.6 69.4| LHIAE A'2H02
MNIKE =—EB 40 40 80 9.6 704| EGIAE
MiliE " K 2 39| 46 85 14.4 706| LI AE
Yol = IS 38| 40 78 7.2 708| ERIAE
64z|/\E FRiE 38| 40 78 7.2 708| LI AE
JRvA ==k 5 Y- 39| 44 83 12.0 710/ LRZAE
8fr|=H B 38 38 76 4.8 M2 LGEAE
OCI|FE 1B 38| 40 78 6.0 720| LI AE
106Z(#NE B 41| 43 84 12.0 720/ EGIAE
T4 ZE4E 43 41 84 12.0 72.0
1226l &4 45 45 90 18.0 72.0
13I8 TF 8= 39 38 77 4.8 72.2
14451 | 3 zls e 41| 48 89 16.8 72.2
15| TE B 44| 45 89 16.8 7122|RUVE
166I|EHE = 39 42 81 8.4 72.6
17465))11E FEE 43| 44 87 144 72.6
186 TiR %8 44| 42 86 13.2 72.8
196 [EAR F— 39| 46 85 12.0 73.0
204z |hE] BE— 46| 45 91 18.0 73.0[/RU'E
2162([ ] 1IE3x 39 39 78 4.8 73.2
2206I|fREE T 43 41 84 10.8 73.2
23GL|RN EE 42| 42 84 10.8 73.2
2461 5K & 45 37 82 8.4 73.6
5GI[PE &R 40 41 81 7.2 738|RUE
2661/ KH —%& 41 40 81 7.2 73.8
27414 3B 48| 45 93 19.2 73.8
28hI5)kE = —HD 41| 45 86 12.0 74.0
29G1|ZHE  EKA 43| 43 86 12.0 74.0
S0GI|ERE 1B 46| 46 92 18.0 T40|RUVE
SIGL(T —f 38| 47 85 10.8 74.2
S2:L(#k K 50| 41 91 16.8 74.2
|k & 45 46 91 16.8 74.2
SA|FTE  E 45| 44 89 14.4 74.6
35GI[FEF  1F— 48| 47 95 20.4 7146/ RUE
S6L|FH HE 46| 42 88 13.2 74.8
SIRL|RZ AR B—ER 44| 44 88 13.2 74.8
LT T 50| 44 94 19.2 74.8
96z EIE 41| 46 87 12.0 75.0
A0GITE Rt 45 42 87 12.0 750 RUE
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Bt B - 20214208 5298 A$: 1188 (BHE:1068 Kit:124)

WAL HRYT ITHEIR : PARX 2

HDCP4IBE: B 36.0 % 36.0

%’/:736.0?{;’/:736.0 B%L't_(})bTé@ééé@@é IN(T)@@QB(%@@@

BEIRFF : v b TOER PAR54 34435414 PAR4 54434354

B sz i E A ouT IN GROSS HDCP NET 28
MEL[A FEX 471 40 87 12.0 75.0
26 BKX BT 43 37 80 4.8 75.2
A6\ A FHIE 38| 41 79 3.6 75.4
MEL|EER FE 36| 43 79 3.6 75.4
ASSI|FEH HF 41| 44 85 9.6 7154/ RUOE
A6 ZH XA 43 42 85 9.6 75.4
41615kE =—EBB 41| 50 91 15.6 75.4
ABGI(#k K 46| 45 91 15.6 75.4
A9GI|RR AT 1BK 45 45 90 14.4 75.6
S0GL(IERIE J& 46| 44 90 14.4 7156/ RUOE
S147|#k  HHE 42| 41 83 7.2 75.8
S2I|/VR - FNER 41| 41 82 6.0 76.0
BIfIfE R K E 43| 45 88 12.0 76.0
SAHI/NR - FNER 36| 39 75 +1.2 76.2
Shisr|riE i 45 42 87 10.8 76.2|RUE
S56f(MEEH #— 48] 50 98 21.6 76.4
SIGI|HT  E/#kd 51| 53 104 27.6 76.4
S8hr|lE . FOik 41| 38 79 2.4 76.6
S594r|i 1EC 46| 45 91 14.4 76.6
60fI[EFAR BEF 44| 53 97 20.4 76.6|RUE
614 |t Hdt 49| 48 97 20.4 76.6
62f:L|fA 1EHH 51| 49 100 22.8 77.2
63fiI|%H I8 48| 51 99 21.6 774
6AGI|EEA  FOK 50[ 55 105 27.6 774
65| B 42| 43 85 7.2 718|RUE
664z|fEF & 50 47 97 19.2 77.8
67GI(ILUT 47 49| 54 103 25.2 77.8
68HL|ZR)I|  BERK 55| 54 109 31.2 77.8
69GI3RE FX 47| 43 90 12.0 78.0
1062/ = 47| 49 96 18.0 78 0[RUE
II|HS 8 41| 42 83 48 78.2
2G0T #8= 47| 36 83 4.8 78.2
13zt Bk 42| 46 88 9.6 78.4
T1AGI|fEH 1BER 42| 52 94 15.6 78.4
I5hIAE =K 47| 46 93 14.4 786/ RUE
16660| KA MRk 51| 60 111 32.4 78.6
TIhI[Ek HE&E 56| 55 111 32.4 78.6
I8fI[{FiE =2 52 51 103 24.0 79.0
1946|HP FZ 53 50 103 24.0 79.0
80fr|IUA P& 41| 49 90 10.8 719.2|RUE
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A$ - 1188 (B1E:106% it 124)
ITHHIR : PARX 2

FfER : 2021408A29A
BEAE N7

HDCP&IPE: BB 36.0 % 36.0
%’/:736.0?{;’/:736.0 B%L't_(})bTé@ééé@@é IN(T)@@QB(%@@@
BEIRFF : v b TOER PAR54 34435414 PAR4 54434354
B sz i E A ouT IN GROSS HDCP NET 28
16| RZE BEA 44 55 99 19.2 79.8
826K —& 50 49 99 19.2 79.8
83fL(¥AE IEA 41| 45 86 6.0 80.0
BAGI[FAR BEF 56| 48 104 24.0 80.0
8HI|EE 1B 48| 43 91 10.8 80.2| RU'E
86l AR E 45 46 91 10.8 80.2
81GI|RE =5 45| 45 90 9.6 80.4
88LI|IT T —k 53 55 108 27.6 80.4
8OGI|EH B 48| 47 95 14.4 80.6
04I|FE #F 51| 50 101 20.4 80.6|RU'E
Nir|FmE AL 48[ 52 100 19.2 80.8
24|l fEE 46| 54 100 19.2 80.8
Mfirjfedx = 46| 47 93 12.0 81.0
AfilfEsk  HHIE 55 50 105 24.0 81.0
Ob4sr (ke BUEH 56| 48 104 22.8 81.2|RU'E
LAY BE 52| 44 96 14.4 81.6
974z B2 50 52 102 20.4 81.6
9BfLI|F/K ZME 44| 51 95 13.2 81.8
00f7|FHIE ==k 48| 52 100 18.0 82.0
10046Z|frA B|ET 55 51 106 24.0 820/RUV'E
1015 BEX 54| 52 106 24.0 82.0
10241iE 287 HE 53| 59 112 30.0 82.0
103fiz|hot IE 57| 59 116 33.6 82.4
1046 AE FEX 53| 56 109 26.4 82.6
1054z([EH  #— 61| 58 119 36.0 83.0[RU'E
1064iZ|IEEH #08h 55 57 112 28.8 83.2
10767\ BEF 55 59 114 30.0 84.0
1084i| G )1l  1EE 50 51 101 16.8 84.2
1094Z(F| )1 1EER 53 57 110 25.2 84.8
1104|fht 1E 60| 49 109 24.0 85.0|RUE
TTIGLIUE D& 58| 66 124 36.0 88.0
1124sL|# B 8h3E 61| 65 126 36.0 90.0
N3GIiglR gE=E 67| 61 128 36.0 92.0
AGLIRN %% 59 72 131 36.0 95.0
115467|EA ZE go| 73 153 360 1170///RU'E
NR|AR XZ@ 0 0 0 0.0 0.0
NRIEE {Ez o o 0 0.0 0.0
NR|FEWL /N\+= o oO 0 0.0 0.0
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